Unit 2 - 1.1	nit 2 - 1.1 Polynomials								
Polynomial:									
An expression of the form:									
$a_n x^n + a_{n-1} x^{n-1} + \dots a_3 x^3 + a_2 x^2 + a_1 x + a_0$									
with a_0, \ldots, a_n constants and $a_n \neq 0$ is called a polynomial of degree n (the highest power of x is the degree)									
Division – some terms: Divisor – what you are dividing by Dividend – the number you are dividing into Quotient – how many times the divisor goes into the dividend Remainder – What is left over.		I	Divisor		Quot Divi	tient dend	r. R	emainder	
Division of polynon – Nested or synthet	nials ic division	Example of synthetic (nested) division:							
Dividing $f(x)$ by $x = b$		Find the quotient and remainder when $x^2 + 6x^2 + 3x - 15$ is divided by x - 3 Write down the coefficients of the polynomial							
Note: the divisor M	UST be in the form $x - h$	- taking care to put a 0 where a power of x is missing							
Example					Α	B (C I)	
Find the quotient and	l remainder			3	1	6	3 -	15 1	
when $x^3 + 6x^2 + 3x - 3x^2 + 3x^2 $	- 15 is divided by x - 3				→	3	27 9	90 2	
Follow the working	opposite.								
The quotient is $x^2 + 9x + 30$ and the remainder is 75		The sha	udal rov a	ia ri lui		ised there o	nly to re	fer to the table for explanation.	
It should also be noted that the remainder when the divisor is $x - 3$ is $f(3)$		Ster 2. Scp. 2. Step 3.	Pat the of Multiply Add B1	content A3 b tc B2	ts of an othe d a.d put	st a ght o visor and t result in 1	lown to put rest B3	A3 alt in B2	
To illustrate this $f(3) = 3^3 + 6 + 5(3) - 15$ = 27 + 54 + 9 55 = 6			Multiply Add C1	y B3 by to C2	y the di and put	visor and t result int	put resu o C3	ılt in C2	
If we divided the quadratic $f(x)$ by $x - h$ then the remainder would be $f(h)$		Step 6. Step 7.	Multiply Add D1	C3 by and D	y divisc 2 and p	or and put out result i	result in nto D3	nto D2	
		A3, B3, C3 are the coefficients of the quotient and D3 is the remainder.							
Example:									
Find the quotient and $x^3 + 6x^2 + 3x - 15$ is	l remainder when divided by $x + 3$			-(3 1		3	-15	
Note we must make	Note we must make $x + 3$ into $x - (-3)$						-9		
The quotient is x^2 + remainder is 3	3x - 6 and the				Ţ	1 3	-0	3	
Example:									
Find the quotient and $2x^3 + 3x^2 - 5x + 3$ is	l remainder when divided by 2x + 1	-1/2	2	3	-5 1	3	The q the re	puotient is $2x^2 + 2x - 6$ and emainder is 6	
Again we have to arr form x – h	ange the divisor into the		* 2	2	-1 -6	5 6	Howe the q we to	ever we now have to divide uotient by the factor of 2 that ok out.	
$2x + 1$ is the same as $2(x + \frac{1}{2})$ or $2(x - (-\frac{1}{2}))$		So the m	$\frac{1}{2} = \frac{1}{2} + \frac{1}{2} \frac{1}{2} + \frac{1}{2} + \frac{1}{2} = \frac{1}{2} + \frac{1}$						
ignore the factor of 2 at the moment – we will deal with that separately.		NB we do NOT divide the remainder as well.							

Unit 2 - 1.1	Polynomials							
The Remainder Theorem When any polynomial $f(x)$ is divided by $x - h$ the remainder is given by $f(h)$		We can find f(h) directly to obtain the remainder, or we can use synthetic division.						
The Factor Theorem If the remainder when dividing a polynomial f(x) by $x - h$ is 0 then $x - h$ is a factor of $f(x)i.e. if f(h) = 0 then x - h is a factor.This allows us to find factors of polynomials ofany degree. Once we have a factor, we candivide by the factor using synthetic division,and obtain another polynomial of degree oneless.We can then repeat the process to obtainanother factor, if one exists.Using the Factor Theorem$		This is a follow on from the Remainder Theorem and is perhaps more important and certainly useful. Example : Find the factors of : $f(x) = 2x^3 - 11x^2 + 17x - 6$ possible values for h are ± 1 , ± 2 , ± 3 , ± 6 , Try h = 1 f(h) = f(1) = 2 - 11 + 17 - 6 = 2 this is not zero so $(x - 1)$ is not a factor Try h = -1 f(h) = f(-1) = -2 - 11 - 17 - 6 = -36 this is not zero so $(x + 1)$ is not a factor Try h = 2						
 The easiest way to u follows: Look at the fact the polynomial possible values Evaluate f(h) u then you have Once you have polynomial by and obtain the is of degree on Repeat the pre- 	se the factor Theorem is as tors of the constant term in l f(x) these are the only s for h until you find $f(h) = 0$ and a factor. a factor, divide the it using synthetic division polynomial quotient waith e less. c solutil you can find re-	f(h) = f(2) = 16 - 44 + 34 - 6 = 0 so (x - 2) is a factor Now obtain the quotient: 2 2 2 -11 17 -6 4 -14 2 2 0 0 Quotient if x^2 (7 + 3 so polynomial is $(x - 2)(2x^2 - 7x + 3)$ is we factorise the quadratic factor using two brackets: $2x^2 - 7x + 3 = (2x - 1)(x - 3)$ is $(x - 2)(2x^2 - 7x + 3)$						
more factors. Solving Polynomial Equations If h is a root of the equation $f(x) = 0$ then $(x - h)$ is a factor of $f(x)$ and so $f(h) = 0$ Recall the graph of $f(x)$ a root is where $f(x)$ crosses the x axis – in other words $f(x) = 0$ Consequently the value of x, at which $f(x) = 0$, is a root of the equation $f(x) = 0$ So if we can find h such that $f(h) = 0$ then we have a root of the equation $f(x) = 0$		Example: solve the equation $x^3 - 2x^2 - x + 2 = 0$ First find a factor – try possible values: $\pm 1, \pm 2$ $f(1) = 1 - 2 - 1 + 2 \implies 0$ so $(x - 1)$ is a factor Use synthetic division to divide $f(x)$ by the factor $1 \qquad 1 \qquad -2 \qquad -1 \qquad 2 \qquad -1 \qquad 2 \qquad -1 \qquad 2 \qquad -1 \qquad -2 \qquad 0$ hence: $x^3 - 2x^2 - x + 2 = 0$ factorises to $(x - 1)(x^2 - x - 2) = 0$ now factorise the quadratic part to get: $(x - 1)(x - 2)(x + 1) = 0$ Hence solutions of the equation: $x^3 - 2x^2 - x + 2 = 0$ are: $x = 1, x = 2$ and $x = -1$						



Unit 2 - 4	The Circle		
The circle – centre $O(0, 0)$ and radius r			
$\mathbf{x}^2 + \mathbf{y}^2 = \mathbf{r}^2$			
The equation of a circle is given by the locus of Point P			r (x, y)
which describes a path at a constant distance r from the origin.			
We need to find a relationship between x and y that satisfies this condition.			
By Pythagoras: x^2	$+ y^2 = r^2$		
Hence the equation of	of the circle is:		
$x^2 + y^2 = 1$	r ²		
Application:			
Given the equation of	of a circle in the form	Example:	the radius of the circle: $x^2 + y^2 = 64$ is $r = 8$
$x^2 + y^2 = r^2$		Example:	the radius of the circle: $3x^2 + 3y^2 = 48$
we can write down the	he radius.		first divide by 3 to get the form $x^2 + y^2 = r^2$
			$x^2 + y^2 = 16$ so r = 4
Application:		Example:	
If we know that the origin and passes thr find its equation:	circle is centred on the rough a given point, we can	Find the equa	ation of the circle centre O passing through P(3, 4) using the distance loganda, we can calculate OP as 5 This is the real of the circle. Thence $x^2 + y^2 = 27$
Application: We can check that a does then it whe sat circle:	point les on a circle – if it sty the equation of the	Example:	Does the point R(12, -9) lie on the circle $x^{2} + y^{2} = 225$ LHS RHS $x^{2} + y^{2}$ 225 144 + 81 225
			Since LHS = RHS, point R satisfies the equation, so R lies on the circle.
		Alternative 1	method:
		If the point R radius of the	R(12, -9) lies on the circle, then OR will be equal to the circle (which is 15).
		Using the dis	stance formula we find that $OR = 15$, so R lies on the circle.
Example : Find p if (p, 3) lies on the circle $x^2 + y^2 = 13$		Example : Does the poir	int Q(7, -4) lie on the circle $x^2 + y^2 = 64$
(p, 3) must satisfy the equation of the circle, so: $p^2 + 3^2 = 13 \implies p^2 = 13 - 9 \implies p^2 = 4$		The distance This is larger so Q does NC	e OQ (by the distance formula = $\sqrt{65}$) r than the radius of the circle, OT lie on the circle
so $p = \pm 2$			